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Study cases, the transition to pulmonary tuberculosis using
Markov chains

The theory of probability laws designed to study the probability of
the random accidents of falling and many of the same species.
Knowledge of the probability laws followed by the random accidents of
falling allows the prediction of many hence the Markov process is
extremely important in practice in the study and interpretation of these
incidents.

In this study, the use of Markov chains, which is a special case of
Markov process, where based on a phenomenon that goes from a state to
another according to certain laws of probability is called the transition
probabilities (Transition probability).

The subject of study, characterized by the transfer of disease from
one state to another of the three cases, a disease tuberculosis (within the
lung) and his travel three, the first case that goes through the patient is
Coughing, bronchitis and throat, the second case, chest pain and increased
sweating and weight loss patient, and the third case All of these cases with
sputum blood and a decrease in the patient's immune, so the best thing is
the process of tuberculosis and his travel three is the use of Markov chains,
although some of the major conclusions reached, it recorded the average
number of cases to the tuberculosis the highest rate (2) compared to
transformation processes of other as in Table (5), though the path may lead
to the end of the tuberculosis (case ending) of (Ms) about (51.13%) of
cases overall.
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